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cmasg damssEshd Flursy ufeurd o dTeTHT ETETLISED T
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Sifleyenrsst : (1)

(2)

Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
Black ink to write and underline and pencil to draw diagrams.

Instructions : (1)

(2) UseBlueor

Caeeuwnar QL5 LILLD euenfhgl FELTHS@®ET eT(pSIS-

and write equations wherever necessary.

&Py :
Note : Draw diagrams

L@ - 1/PART -1

@dluy : () e YT AaE&HEhEGLD e wef&sa]. 30x1=30
i) QarpEsuulL BreE Herisalle Wsad sfwurer eloLmwus

CoibOsMss GO B Senemanyd Gsigg eT(PSIS.

Note : () Answer all the questions.
(ii) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.
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Sl daetian SEERampn dlevauie sl srivaiod QrieGenewtiiy

D AETOSS QLW 0 gapd Qe

(N DA Qe () urfwre g ean @
Q) QuasTOg AR (F) AL rogeoan®

During vzonolysis of olefins the presence of terminal double bond is identified by the

formation of
@) acetone
(©)  benzaldehvde

(b) formaldehyde
(d) acetaldehyde

SR&sT@UQRIDDET T8 &ECITSEE QUImHSSLIATHOR ?

() Frmdugtte EeErstares L Qv AsTHE8Ds)

() Qi stssar

& ﬁW‘!U@L}u&)Lw SEHECsTR WHMD < LTECLTeNFE QarHsSnsg)
(F) Qssr staser

Sucrose is not
(@) hydrolysed to only glucose

®  a disaccharide
(€} hvdrolvsed to glucose and fructose

~ ~

(@) a non-reducing sugar
Safidear siflan sabs QUL run e gCrmGL Qsraar(® < &SmGampod

QAUST

() QuarsTarg ean® () p-QuenGsrEulCanmen
Q) JuaTasd YOSADTO (F) Quensmis feid
Onadation of aniline with acidified potassium dichromate gives :
(a)  benzaldehvde (b)  p-benzo quinone

(¢} benayl alcehel (d) benzoic acid

LsaiQE HsQh el rRs YeosriiGar smearors Ceogder :
() Qardfie Gopdng wHnb Hid serubd Hner < fsf&dnsg.
() Qerdile sepdpg winn SR soryb dnd Gepdns.

Q) Qarfiflox oifsfisdpg whpw Ble seoryb Spar Gondns.
(7) Qardiee fsfiddng wonw SR searyb Hpar Hssdns.
The intramalecular hydrogen bonding in compounds leads to :

less boiling point and high solubility in water.

(@)
(®)  less boiling point and low solubility in water.
(¢)  high boiling point and low solubility in water.

(d)  high boiling point and high solubility in water.
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2HI = H; + 1, erenp Fwflene allenamudieo K, e :
(=) K. -&@ sId (<) K, -8 ML &b

(8) ymwbd () K. -g el @epey
In the reversible reaction 2HI = Hj + I, K is:

(a) equal to K, (b) greater than K

() zero (d) less than K,

Qemauqpid arbs e Werellwp poindfliy wep epers FesuUGEADS ?
(=) whlwur (<) Quirfls GGerreny(H

(@) GEpsCars (FF) &T&SeT
Which of the following impurity can be removed by electrodialysis method ?
(a) Urea (b) Ferric chloride

(c) Glucose (d) Sugar

LTl &&L 1g 6TaD Jnlpogdler Gl : _
(31) STHNISESHDTFD (<=1) medFLUL

(@) Samo Falplod (/) aef
Cheese is an example of :

(a) aerosol (b) foam

(c) solidsol (d) gel

SpsaEam_uPMIET eTHS owal Bpwpp Bivssmrsmed sHSDS ?

(<=1) Ni** (<) Sc>* (@) Cu?* () Mn®*
Which of the following ion will give colourless aqueous solution ?

(a) Ni?* (b) Sc3* () Cu?* (d) Mn3*t

g AZ18 Grémp 2 L& HlevaLiLg semepLowjarar goB20 &l'_as.@mrrasl ormbCUTg)
QeuafledLIL(HD o HMILD B gisaaafan cramallEmsmLIS seamsS B
(&) 6o, 8B (/) 3a, 3B

(1) 3, 4B (<=4,) 8a, 6B .
How many « and B particles will be emitted by an element g,AZ18 in changing to a

stable isotope of g,B?% ?

(@) 3o, 4B (b) 8o, 6B (c) 6c, 8B (d) 3a, 3B

Ciy
(<o) [R] 5£0 - 14 6d° 7s°

(/) [Rn]5f0-146d0~27s"
tinides 1s :

<y Siganar(hsafie GTAHLJTET EnLD
(=21) [Rn] 5¢0-14 640-2 751
(@) [Rn] 5£0- 14 6d0-27s2
The electronic configuration of ac el 50 -14 640 760

a Rn 5f0-146d0—27sl 7
%C)) {Rn} 5£0-14 640 -2 752 (d) [Rn]5f0-1 6d0-27s0

[ Q@{an; / Turn over
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Siflogdlen euslenenus QUrpssLL g erps euflens siewly sflwreng ?
(1) CH,~CH,COOH < CH,COOH < HCOOH < CICH,COOH

(<) CH;—CH,COOH > CH,COOH < HCOOH < CICH,COOH

(§) HCOOH > CH,CH,COOH < CHyCOOH > CICH,COOH

(m) CICH,COOH < HCOOH < CH,3COOH < CH,CH,COOH

Which order of arrangement is correct in terms of the strength of the acid ?

() CH;—CH,COOH < CH,COOH < HCOOH < CICH,COOH

(b) CH;—CH,COOH > CH,COOH < HCOOH < CICH,COOH

() HCOOH > CH,CH,COOH < CH,COOH > CICH,COOH

(d) CICH,COOH < HCOOH < CH,COOH < CH,CH,COOH

NH,OH ¢ eucllenw@enp &b erlenaie :
(=) ppeugiors welurdpg

() GoDEs el SiYdssms o oLy
(@) eopps SILTsHyeLwug

() uedurs weallurdps

NH,OH is a weak base because :

(a) itis completely ionised

(b) it has low vapour pressure

(c) it has low density
(d) itis only partially jonised

[Pt CL,(NH,),] eréinn ianamraj Gaiogdler Pt -6 oiemewtey erei :

(=1)5 ()2 () 6 (F) 4
The coordination number of P2+ in the complex [Pt Cl,(NH,),] is :
(@) 5 (b) 2 (€ 6 ) 4

T508TES SeflORSET LTIEMESSSaeLoamLl Qurgleurs Qameir(Hemere :

(=) s -QgnES saflomser (<) p -QsTES safioriser
(@) f -QsTEd saflomisar () d -Qsrad seflomiser
Paramagnetism is common in :

(@) s- block elements (b) p - block elements

(c) f-Dblock elements (d) d - block elements
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e evanien AG erflighew QuDBmBSTD, AHD THUGHL WLIHOLD :

(=) SergeanenwwyenLwig (<)) seaFangwirang)
(®) sufleow () seaflFanswunng
If AG for a reaction is negative, the change is :

(a) Reversible (b) Spontaneous

(c) Equilibrium (d) Non-spontaneous

@plGrr B5Csar fllLrdoyaman@Lear Gnss almanie FhHULbBE
Qasruug :
(=1) 2-e0plCrm-1-yrluernme (<) eopLCrr yruGue

(@) 3-epLCpr yrluerre (FF) 1-edpLCrm-2-LrliLermeD
Nitromethane condenses with acetaldehyde to give :

(@) 2-nitro-1-propanol (b) Nitro propane

(c) 3-nitro propanol (d) 1-nitro-2-propanol

it euddlento 0&s saflo SjlemsEhea elamafibg &Ceralub 2 e
2 HAUTEG6US) :

(=) yCrmiLmer B&aD (<)) eresLlyrer FHmLDd

(@) B B&s0 () yGpriimesr grpmbd

The formation of oxonium salt when ether reacts with strong mineral acids is called :
(a) deprotonation (b) electronation

(c) dehydration (d) protonation

Capagmer @eLsCsinhsmer BrrpLEEEDEUNE sadlantaa® iwef
® (HeuUTeug)

(1) e meusded Quiiu Canageasaie GnHS!

() e@aisded Aflu Capagasaie Qobs

(@) @ren® Capogensafel®mbaid

(F) @fls aeslgrasat saemn Gsrar Canwgeaiidnbs)
On hydrolysis of interhalogen compound, oxyhalide ion is formed from :
(a) larger halogen

(b) smaller halogen

(c) both the halogens

(d) more electronegative halogen

[ Hiliys / Turn over
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epLCrr Quenden Zn/NaOH o L e RO&sL®LHE HoLlug)

(31) Csr Quenden (=) <iefleder

() oan yGsr Quenden () igmsd Quenden

The product obtained when nitrobenzene is reduced using Zn/ NaOH is :
(a) azobenzene (b) aniline

(c)  hydrazobenzene (d) azoxy benzene

2118 SflwsHen <elurged erem Crma -
(=1) 21 Gl &M ~1 Gomedr~1 gy oI GDDeY
(=) 21 8O0 il ~1 Goréd~1 g QL 2F\&10D
(8) 21 9960 1M~ Come—1 -&(& &LLb

(/F) 21 sCGeomfl 14 &M~ Gomer—1 & el Sl
The entropy of vaporisation of acetic acid is :

(a) less than 21 cal deg~! mole~

(b) greater than 21 Joule deg~! mole~

(c) equal to 21 Joule deg~1 mole~

(d) greater than 21 cal deg~1 mole ™

elenaGouss Foemm g o erer Qeleysaien 2Ah&@seflen snhse
(1) enarGaugid (<) epe&sam eremr
(@) alenenGeus ommlad (F) elenaieuens

The sum of the powers of the concentration terms that occur in the rate equation is
called :

(a) rate (b) molecularity

(c) rate constant (d) order

Gaudluiuriy seigedld 6rgl Seummeng) ?
(1) uriys saumb dummefler Bg Lo SBsEa@er Compnedsdng
(=),) BeTTSSemenou|enL g
(@) urdiys Caromiser o (heurdlemmer
) @e0© Seriaim oo Cemaiu@Aps)
For chemisorption, which is wrong ?
(a) it forms multimolecular layers on adsorbate
(b) irreversible

(c) surface compounds are formed
(d) it requires activation energy
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Frepwwpn sTTLmens Qarairy Ty BCamion :

(=) yGrmeden (<) Heveréar
(8) wsCrrdlen (F)  jevailem
The amino acid without chiral carbon is :

(a) proline (b) glycine
(c) thyrosine (d) alanine

LCrmiCeampnsdnE erafigrs o LWL Ceamwlb

(1) Sermeo (<)) QuenCemuilsd SjLled
(@) QLrgyeie (rF) Guen&e

A compound that undergoes bromination easily is :

(@) phenol (b) benzoic acid

(c) toluene (d) benzene

bee Ly &S5E16) @ff BGE sl g@ieer Qorss amissatlen erammeaiisma :

(1) 3 ()1 (@) 4 () 2
The total number of atoms per unit cell in bec is :
(a) 3 (b) 1 ) 4 d 2

ghlwrer gapenn CHTHASHESLD :

(=1) Souenflafien eravdigren priLib gGermflaar el SifsLb.

(=) e wflw euryssaflan cradLymer BriLLomarg HSHLW.

(@) @Carshseaian sl rrar BriLb Gopey wHmL 2 Corsmnsae
Gre&LTTar Bl b SF&LD.

(7) d10s2 ereslprarer Qsrar@edrer saflwmsafien eradlyrer HrLL
HLILsET TGl 2 aLLmal.

Pick the correct statement :
(a) Electron affinity of fluorine is more than chlorine.

(b)  Electron affinities of noble gases are high.
(c)  Electron affinity of non-metals are low and those of metals are high.

(d)  Electron affinity of elements having d1%s2 configuration is negative.

3136 g - —34.84 erafléd, n -ain WA ;

E,=— ——
n n2
(1) 2 ()4 (&) 1 (/) 3
E,=- 313.6 , if the value of E;= —34.84 to which value ‘n’ corresponds ?
n
(@) 2 (b) 4 © 1 d) 3

[ H®luys / Tumn over
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) : Gous wrmedga
R0 Ceudelenamuder WerGanré@ LHMmILD '5“6”‘@“7”5@ ZTS] szmguq : peles
PepGu 0.05 eflenmy ~1 whHmb 2 eSarmg ! ereah SIS (/) 0.02

0.045 v )
(1) 0.035 (%) 0.025 () e reaction are 0.05 sec~1 and

The rate constants of the forward reaction and revers
2 sec ™! respectively, then K. is:
(a) 0.035 (b) 0.025 (c) 0.045

(d) 0.02

lemeumLaTaub il &5 Nw&ss FemenLol|eTer orpsamer(
(=1) yGrmASHwiih (<) Q]L'_Laélum .
(8) #wbd () sLGaraflwibd

The radioactive lanthanide among the following is :

(@)  promethium (b) lutetium
(€)  cerium (d) gadolinium

Spssramuaneupme ergy eref S ;
(1) CH;—O-CH, (<) GH;—O-CyHs
(&) CH;~O-C¢H; () CHs;—O-CoHs
Which one of the following is a simple ether ?
(a) C,H;—O-CH, (b) C3H,-O-C,H;

L@3| - I/ PART - II

GOy : () aCsgd uemenis) cflammés@Enée oflenwefésmeyb. 15x3=45

(i) @euGleum ellamallpEd enm Sidag) Brewt® cursdwikiseid
allenLwefl&sayLb.

Note : (i)  Answer any fifteen questions.

31.

32.

(ii) Each answer should be in one or two sentences.

QemgseliL] - euenywmy.
Define hybridisation.

Si-C -an ssidenaaniiy Berogliiy 1.93 A. smiLien igmeflen FHLIenenTiiLy i
0.77 A erefled, AedGsman 2Agmeller siameanriiy WTEDG Sevréd (s,

The value of covalent bond length of Si-C is 1.93 A. Covalent radius of carbon atom is
0.77 A. Calculate the covalent radius of silicon atom.
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Hurafien Gaauid epeny LWEHMET 6T(LHSIS.

Write any three uses of Neon.

urevurellen gm D&l BOn WPESETISH LD 260l U . Gafrosn s
SRTLHHGH DG eTevdLFren LaTefl eurlumrlenl euanys.

An oxyacid of phosphorus is triprotic in nature. Identify the compound and draw its
electron dot formula.

QeLflenes saflomser ameare s GCamwmsamer 2 (Haurs@eauGsear ?

Why do transition elements form complexes ?

QuriLrdlwb GCrrGwl ereaveumry GQuriLrlwbeaLG8rmrGuwlLrs
rppliuGEpg ? Conadlu efemanuid Hawn Hpwrppsans snmns.

How will you convert potassium chromate to potassium dichromate ? Mention the
colour change involved in the reaction.

U2 o ' gmeflan siampaumpsred 140 priser. @eie  smedlen syrefeump
BTVSMNSE H&SHE.

Determine the average life of U2 having ti; =140 days.

2flblensLsgIb Hlenevomp Geuliuflaney - euenywipy.
Define super conducting transition temperature.

Spseam Hlavwew wrpnsdeaGurg e Crmi wrppsamss semsdHs.
AHtra nsition — 2090 J.mol~ !

1 mole S (o, 13°C) = 1 mole S, (B, 13°C)
Evaluate the entropy change for the following process possessing
AI—JItransition =2090 J.mol~ :

I'mole S (a, 13°C) = 1 mole S (B, 13°C).

cllena GamaLd - U,
Define reaction quotient.

[ mys / Turn over
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Epssem_ Hssorar clmeanser aaleumsmi FTibEE aTan SN,
@) 2-Clogdéd-2-9w L amena Bilpéan Qelisa

M) euererw yGrmUGUen wrHRlwSsEHE LL® efenar

(iii) srysHen wperaflananier eeravL i BrmpUEGESLILGS®
Identify to which type does the following complex reactions belongs to :

()  dehydration of 2-methyl-2-butanol

(ii) isomerisation of cyclopropane

(iii) saponification of a diester in presence of an alkali

pse> auems eflevamuien ApliGueysdr gCsab @ran® er(pgis.

* Write any two characteristics of first order reaction.

lq-63TL_ITed adleneme erenmmed eTeman ?
What is Tyndall effect ?

255106 Sblosens Corigwd mapl Fréms@Ler srn LrisEeEoLEUTE
vwetu(SgDd Bpmsriy erg ? oar udoe® slwurar sTraTSS L6
Bluruiu®ssis.

What is the indicator used for the titration between oxalic acid and sodium
hydroxide ? Justify your answer with suitable reason.

SOIMUSE Semael GTamTe eraire ? eTHSSISSTLHS S(Hs.
What is a racemic mixture ? Give an example.

alevamenw Lf5dH Gswig eflener@ummenar QLWAGS.

ALO3 . 5

Complete the reaction and write the name of the product.

ALO; .

Gnss saraflerGrr elenaruie, urfordgman® wWHND CueTsTadgman(
ellenarul (h Quenesed Y osapreoe LLHCWL sHEDPE. GwssaTomans
F(HeuSleene STTeRTLD FnMis.

In crossed Cannizzaro reaction between formaldehyde and benzaldehyde the alcohol
formed is only benzyl alcohol and not methanol. Give reason.
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48.  Lwre@sL LFms eTanPTD creer 7 @i ereueury wrfssuu@Epg ?
What is Malachite green ? How is it prepared ?

9. wrHm revLrEEGHD eflanen yosaDTD TP TAUFDE SGHS lamaraws
SMS. ,

Give suitable reaction to show that trans esterification is an alcoholysis reaction.

B cocl - .
50. Cyijz)ON KC‘}Hﬁ\ B - C. A, Buppb C -g sar_fs.

CyH,ON —22_, B —92 , ¢ Identify A, B and C.
(A)

urpreaplyréél SiGer dueardar erarp Gerwgded srariu@b Hmb
GCamhmiefuiumar, fipw e Bl wHnb Ao 2 wisd Huapon erpsis.

Write the chromogen, chromophore and auxochrome present in para hydroxy

51.

azo benzene.
u@g - I/ PART - 11

GOy : @alarm Afddipign Goppsulsd @m darssmerg
Caipeshsg aCsad e NamssEnss elewelsseab. 7x5=35

Note : Answer any seven questions choosing at least two questions from each section.

19fey - 3y / SECTION - A

O, péamy 2 (HeUTalms ppssan b TUIALL T deraranaudeniy ederéss.

52.
Explain the formation of O, molecule by molecular orbital theory.

53. RIrs sigen srgledambg erevaury NASsHESILGADS ?
How zinc is extracted from its ore ?

54. @mBs@a([) WHMILD &g meTHEaNl6 LILETSEMmET 6T(PSIs.
Write the uses of lanthanides and actinides.

[ $mliys / Turn over
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[Ni (PPhs), CLy] eretr Smaney CerosnE IQGBTQJ@GUGUT@J@‘WW‘% GHEED.
() IUPAC Quuw

(i) evww 2 CGoors <weaf
(i) rrefser

(iv) AemewToy GTemr

(V)  Siememrellen Feenio
For the given complex

[Ni (PPh,), CL)]

Mention

(i) IUPAC Name

(ii) Central metal ion

(iii) Ligands

(iv) Coordination number
(v) Nature of the complex

fley - oy, / SECTION - B
Qeutin Quisselwe @reamLmd edfuller LOGauM FahMSEMET 6T(LPSIS.

State the various statements of Second Law of Thermodynamics.

Ky K. -6 Qe Cuuwrer Qgriieu @@ Qurgearar Coaugflsswhae
eSlenand@ eu(mel&EsEea L.
Derive the relation between K, and K_ for a general chemical equilibrium reaction.

fAw sorsdad H0, dosaaryb doaudda ddaaGaus wrldowu
sam_db CeTseaman (pampau laiéEs.

Explain the experimental determination of rate constant for the decomposition of H,0,
in aqueous solution.

Spsrayd arsogslen emf -Bud soeloanlean Sl wor o Hnd
rHpSSULD Sl B,

Zn|Zn2*||Ni2* | Ni.
Zn?*|Zn wpmb Ni2* | Ni - L @O&s Blen SipdshEeT pemCu —0.76 V
wHmitb —0.25 V.

Determine the standard emf of the cell and standard free energy change of the cell
reaction Zn|Zn2*||Ni** | Ni.  The standard reduction potentials of Zn?* |Zn and

Ni2*+|Ni half cells are —0.76 V and —0.25 V respectively.
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Wifley - @ / SECTION - C

SN Camred SWIEELD epetm peppsamaTs &ms.

Give three methods of preparation of anisole,

61. dlQemisen evdlifl efenemufen eflenameuiflpernen eferéEs.
Explain the mechanism of Claisen Schmidt reaction.
62. amiursfells ulenisaile sraTlILEHLD rpdlwkigemer edlaTéEs.
Explain the isomerism exhibited by carboxylic acids.
63. yr&la’ Pamer 2 b serar LWGTLIRSSILHLD Geugdl erflQummLger LM
GOy euenrs.
Write notes on chemical propellants used in propulsion system of rockets.
u@dl - IV/PART - IV
GOluyY : () Qurgsd mrenE lamésErss elenweafdsab. 4x10=40

eilerm erem 70-8@ &LLmuwrs e wellssiiuL o Couam@ib.
Bsepeter  eflanmssaildr  gCseubd  epenmy AlaTré s @hé s
eflenLweflG&seyLb.

(1)

Note : () Answer four questions in all.

64.

(i) Question number 70 is compulsory and answer any three from the remaining

questions.

(1) eredLgmar s sens LTEEED LOGau sTrenflsmer eferdss.

() uear@saapog, Oesflar QLaralley apula eresaumrmy
9508 HéasL: LGEs ?

(a) Explain the various factors that affect electron affinity.

(b)  How is fluorine isolated from fluorides using Dennis method.

[ lpLiys / Turn over
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(31) @an Gy (5Crhm) wrpPubd wHmb Geewruy wrHHluses
TH5HEHT_(HL6n ellaTdEs.

(<) srauriusefen gefiGeismadgib, erevLiseafer BrmHUGS .
deaafypopowu Hu sHluss pCerGLriyser eraiaiTDl
vweTupdlepar eralens eflemdEs. .

(a) Explain hydrate (solvate) isomerism and linkage isomerism with suitable

‘Q:,QS]QJLD o_@Ter

examples. .
(b) Explain the use of radioactive isotopes in the study of mechanism of photosynthesis

in plants and hydrolysis of esters.

(1) Qwealll uyshisefler LaMTLEMaT 6T(HSIS-

(<) eflevarCeusomppid LpHL LFILsiTEds Qardasmw edlaTsEs.
(@) Write the properties of ionic crystals.

(b) Explain the adsorption theory of catalysis.

(1) @rafaflwen Bamigal AfmsuaL s QsTaTmssETaT FTENDIEMETS
5(HS.

(<) QpiremavL_ FLoemLIN g ener a(hadl.

(a) Give the evidences in favour of Arrhenius theory of electrolytic dissociation.

(b) Derive Nernst equation.

(1) fev-1ggremav wrHPlLsoSILDN SBEHS THSSEST_HEEHLET GO
T (SIS,

(<) Epseam_ wapaaied ssTdls Suflab eeaaury surmssiiu@Spg) ?
() <pwWeussd swmiliy
() Qsmpperereuild Gemguid LriGoligdlmbg swrflgsa

(a) Write notes on cis-trans isomerism with suitable example.

(b) How is oxalic acid prepared by ?
(i) Laboratory method
(i) Industrially from sodium formate

(=1) efaarw, Fllaamw, apeloanu lasmer ComuBsss.
(=) uTeleTé&samrBEaT - GOILILY 6T(HEIS.

(a) Distinguish between primary, secondary and tertiary amines.

(b) Write notes on Polysaccharides.
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(1) CeHeO (A) eremmp sflins Caoin BOHeoe ~Quifls GGarreny(Len sagm

Bnses smépg. Geioib (A) - Alas gnepLem Gordg G&HUOGSSLCUNS)

(B)' ereirm enamt CrramiLic fav_&8mg. Cogid Carobd (A) sradls Hiled
LODID L H,SO, o 1 ar efanarfpgl CpHy 04 (C) eranim Geiingens
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An organic compound (A) of molecular formula C;HO gives violet colour with
neutral ferric chloride. Compound (A) when heated with zinc dust gives a

hydrocarbon (B). Also compound (A) reacts with phthalic anhydride and
conc. H,SO, to give compound (C) of molecular formula C,,H,,0,.
Identify (A), (B) and (C). Explain the reactions.
An element (A) belongs to period number 4 (four) and group number 11 (eleven)
and is extracted from its pyrite ore. Element (A) reacts with oxygen at two
different temperatures forming compounds (B) and (C). Element (A) also reacts
with conc. HNO; to give compound (D) with the evolution of NO,.
Identify (A), (B), (C) and (D). Explain the reactions.

OR :
An organic compound (A) C,H,O has the smell of bitter almonds.
Compound (A) reacts with ammonia to give compound (B) C,;H gN,.
Compound (A) also reacts with dilute alcoholic KCN to form
compound (C) C4,H;,0,. Identify (A), (B) and (C). Explain the reactions.
The K, of propionic acid is 1.34 x10~°. What is the pH of a solution containing

0.5 M propionic acid and 0.5 M sodium propionate ?
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